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Answer all questions.

Part A

tr: (a) Mention the difrerence between the closed cycle and open cycle gas turbine power plants.

(b) What do you understand by co-generation of power and process heat ?-
\ry (c) What is a fusible plug ? Mention the working of it.

(d) Name the boiler mountings and accessories.

(e) What is compounding of steam turbines ? Name the different methods of compounding.

(f) Explain supersaturated expansion ofsteam through anozzre.

(g) What is the function of pressurizer ir-a PWR ? Explain the characteristic feature of a PWR.

(h) What do you mean by depreciation ? Explain briefly aly one method used to calculate the
depreciation cost.

(8xS=40marks)

Part B
2- fn a cogeneration plant, the power load is 5.6 MW and the heating load is 1.168 VtW. Steam is

generated at 4O bar and 500" C and is expanded isentropically through a turbine to a cond.enser at
0.06 bar. The heating load is. supplied b.v extracting steam from the turbine at 2-bar and then
pumped back tp the boiler. compute (a) steam generation ratd : &) heat rnp,11 ro the boiler in kw.

,' {*) $9, fuel {pgi4S r.atp of the bciler rn t& if the r:alsrfic value of cca} isr 2b MJlkg. and boiJer-
effieifiic-. ls4b,*6 j'{,J}',tke heat rejeci.:ri ro:ri,::"--;ii.Jr-;rsi,r.iriegiec: prrm:r,w,:r,k.

Or

3. (a) Explain thb firnction of the deaerator why is deardrator installed at a larger height from the
basement.
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6. (a) Derive an expression for' .-.iifrr*i llcss;j:_. ,!.i..;: le ,;.::j-ilriun ,jilscharge thru,ri.:ir a nazzle.

. i8 rn:ri'-s)

t (b) Show that in a 50 %r'eactiori stsa rr-- -rurhinc riitrt iLa. i-nexinjlrm stage efliclericy r" 3I* 
,.. | : . L*cos-cr.

u'here a is the nazzle angle :,

{7 o.narks)
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7 ' The {ollowing particulars appl,v to a trvo ro'v i'e locit} corr:pcrrnded impulse siage of a turbine,
nozzle angle 17o, mean blade speeel 125 miser:. r-'xii angles of the lirst rosl moving blud"*, thi fl,ied
blades, and the second. row mor.,ing i;laii*-. a:e 2i'" fE'a.lr.d 3C"':'especrir-ei3:, blacle frictionfactor
for each row 0.9. Ass,;me. ihat the absil,:i'-e vei.:r-,i.'1; r..l siea= l:ai,rng thi .:tag,: is in ihc axial
direction. Draw the velociiy clia-glam fcl ihe;tage a.ri frad iai abscii,:te velocii-v sf steam leavrng
tbe stage ; (b) diagram work ; (ci diagrarir eii:ie:ic._,,.

(b) ll'hat is a cooling tower ? Hi;n ;1j.?. ,.:J.,iti..,

neat sketch.
..;t. i 11-r.-1:,;14;j

8. (a) Explain a fission chain -.,r--rih an =:{i-ijiti.
(b) Mention the functions oflhe {blio=r.rng i* r,:,,:eii:ai rea.tcr
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of the f,wo power stafions i-^om the iii.l;r*,n-l JEia :---

AnnUal standb;.' siarro" 3:Lf1;u t, = I .i:;:r .,:': ; i=",h.

Annual base load sta.;ii,x-,3li:Fr-ri ': iti i .,i.'i :u. J;l:ri r-',1,:'
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